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Higher : Trig. Graphs & Equations Revision

6. What is the solution of the equation 2sinx— V3 =0 where %S xXST?
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3. (a) (i) Diagram 1 shows part of the
graph of y = f(x),where y
f(x) = pcos x. ﬁ

Write down the value of p. Diagram 1 / \
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(11) Diagram 2 shows part of the
_ Y1
graph of y = g(x), where 3
g(x) = gsin x.
Write down the value of q. Diagram 2
0] X
=B e
Ans | p= Vv, q=-

www.national5maths.co.uk for all you need to pass Maths in one place



4. The diagram shows part of the graph of Iy
a function whose equation is of the form
y=asin(bx®) + c.
N
& (a) Write down the values of a, b and ¢.
§ () Determine the exact value of the
x-coordinate of P, the point where
the graph intersects the x-axis as
shown in the diagram.
(@) a=2,b=3,¢ =~1
Ans
(b) xp = 50°
— .
Q 3. Find all the values of x in the interval 0 < x < 27 for which tan?(x) = 3.
2
~
x = g and x = %’3
Ans
x = 27“ and x = 53_7r
2. The diagram shows a sketch of part y
of the graph of a trigonometric
function whose equation is of the
form y = asin(bx) + c.
N Determine the values of a, b and c.
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Ans| a=4,b=2c=1
- 4. (a) Write down the exact values of sin (%—] and cos (%J
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s (b) If tanx =4sin (7] cos (?]’ find the exact values of x for 0 < x < 27,
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8. The diagram shows the graph of a Y
cosine function from 0 to 7.

5 (@) State the equation of the graph.
S (b) The line with equation y = —+/3
N intersects this graph at points A
and B.
Find the coordinates of B.
(@) y=2cos (2x)
Ans —
® B(%-3)
9. (a) Write sin(x) — cos(x) in the form ksin(x — a) stating the values of k and a
= where £ > 0 and 0 < a < 2n. e
3 (b) Sketch the graph of y = sin(x) — cos(x) for 0 £ x < 2w, showing clearly the
S , : .. ) )
~ graph’s maximum and minimum values and where it cuts the x-axis and
the y-axis.
(@) 2 sin(x—Z)
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3. The diagram shows part of the graph of y
= 6sin 3x and the line with equation
N | A/ \B  v=d
o y ‘
o~
é Find the x-coordinates of A and B. 120
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y = 6sin 3x°
6sin 3x =4
3x=41-8, 138-2, (401-8
Ans x : , ( )

x=139, 461, (133-6)
x, =139, x5 =46-1




Specimen 1
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8. Sketch the graph of y = 2sin(x — 30)° for 0 < x < 360.
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